



Naam: _____

Datum: _____ Score: _____

$$(-3)^2 + (-6) =$$

$$(-10) + (-9) =$$

$$(-1)^2 + (-7) =$$

$$(-4)^2 - (-2) =$$

$$5^2 - 5 =$$

$$(-9)^2 - (-9) =$$

$$(-6) + 4 =$$

$$3^2 - 4 =$$

$$2^{(-2)} - 5 =$$

$$2^2 + (-4) =$$

$$8^2 + (-10) =$$

$$(-2)^2 - 9 =$$

$$5^{(-2)} + 10 =$$

$$(-2)^{(-2)} + (-4) =$$

$$(-2)^0 + 4 =$$

$$(-8)^2 + 10 =$$

$$(-1)^{(-2)} + (-6) =$$

$$6^{(-2)} + (-7) =$$

$$5^{(-2)} + 3 =$$

$$(-8)^0 + 1 =$$



Naam: _____

Datum: _____ Score: _____

$$(-3)^2 + (-6) = 3$$

$$(-10) + (-9) = (-19)$$

$$(-1)^2 + (-7) = (-6)$$

$$(-4)^2 - (-2) = 18$$

$$5^2 - 5 = 20$$

$$(-9)^2 - (-9) = 90$$

$$(-6) + 4 = (-2)$$

$$3^2 - 4 = 5$$

$$2^{(-2)} - 5 = \left(-\frac{19}{4}\right) = \left(-4\frac{3}{4}\right)$$

$$2^2 + (-4) = 0$$

$$8^2 + (-10) = 54$$

$$(-2)^2 - 9 = (-5)$$

$$5^{(-2)} + 10 = \frac{251}{25} = 10\frac{1}{25}$$

$$(-2)^{(-2)} + (-4) = \left(-\frac{15}{4}\right) = \left(-3\frac{3}{4}\right)$$

$$(-2)^0 + 4 = 5$$

$$(-8)^2 + 10 = 74$$

$$(-1)^{(-2)} + (-6) = (-5)$$

$$6^{(-2)} + (-7) = \left(-\frac{251}{36}\right) = \left(-6\frac{35}{36}\right)$$

$$5^{(-2)} + 3 = \frac{76}{25} = 3\frac{1}{25}$$

$$(-8)^0 + 1 = 2$$